T-zgn
._—- T;: yvl‘m
— ‘ = M, S
= , z oa- T . 28N
Fema+T A
\F( ! (v) + 2% A L 12 mfs ™
- Z"i}oD ﬂ)}
@ T
Tf— M‘&'
- 20( 131 - £ .
P i o 4 ¢
< 3, N o ?Z
CX: /.:?[ Milﬁ
“T+megy el %i
Ms] —m, !
TML'M‘M23: 'Tml*mBMZ'g |

TWH i /I’Mb'z ZM'MZ'g

T- <M, g - 2(/6)(5)(/05
1,7% G 5

T2 () T




' - M.OL F/(M‘rm‘b)o‘\
21(11%) _ c 34
4.8 N (M,f’mz\) 2t 1T
Gz /,(? wls ¥
o _

@ J 4 F > T

F; (Ml‘f'm)()‘ T = M,

F»(z(gmz (c (53 o - :’L 293 [ 13w
T M, A
- 5H 2 A

© T IT g e mgiree
9 + mzﬁ (Ml - ml)(:) . @{ M m) o
T g

z Mot+e,
T = mij — Mo l\c m =M, H, e

T = mq/c(}.%M,l@.\» Q:O




o

cll é-gm
Vo= 0,97 /s
O =
- 7 |
g —T+M,3 .
-

| ’Tr *'Mz’j; 'sza\»-
+a( I T&
1= mlj M, a_
\/

\V4
l Wzg ) 1mlf)+mio\

M, ’ma”.m + m, o
, éi\/"f*la’tb G\) 29

(C,S 97 f + 4 (O;t (- L)U i 7)o

o= (M ~*")9
,tz',;, ﬂ#t 'ﬁé 3=0 (Mi‘f(mz,..,q
= - rgs
- wfa(iy-en T2 7) ©
' TZU) ) (27 #09
_t_. - 2 t < a = Z M‘f ;: - ( Clo u’n)




= ken [163m) 2%

/ T ——




Olsc b 2.

T"ML,B: "IV\ZO\, Th": /’n&j WMZNK

beﬂﬁ, / )

7T - %ijjlh O - m, o— T = /’n,ggmg +m, G_
sz — e = M, jﬁm &+ m, G_

mo= m, =5

MLB - Mool = (MZ"S) 2)54\«,9 + (Mz:,””@ o~

M&g - Mlﬂm = W%lrgﬁé\’\g) — 53&% & N MZ‘O\W — 56\
ML% - m?*&h -»sz SMQ - Mzﬁ, @ = = 53 sm Y~ Sa

ng > — 5? S B — Su —E(Ia)st?’ - 5(5,?/) ”_»-5?.2‘!?

PO -

T Jo- Josm UF - 2(5,7,) ”éiﬁ'?‘

omenes,

f\’)v 35{»\ & mkaM

_ML = g, z /fi (&0@) §:7.6




G Biocé 2*

. CC -
,,___3._... —T 4+ magsng-= M o—
2.3 | -
,, T= Maeenm — My o
< ‘ Zf:z S M LC&
. G = M 3 SO — M, o

(m +M?)a - ML%SM@

G > M ?ﬂﬁ S &

e —y

Moty

= 36010y sm 3
(33 +36)

= 3. 3mps Y (3-2-,)3“ -4




ﬁfj”3 ted rafs e

2
T = mo- F-T, =(m *"”’"z); e
2 se F-T,
M | =
T.F T,
ﬁ'wb 7 %N
7, t 7m FM —/, ~
" (if»’“ 4o %MB
T = ¥ my
- ~ .
(M # M fff%)
_ /30( /1

( 20 +20 + t"i)
2% L/




- P g;’&&,'g e
t- ¢ T frmzﬁﬁ"\" &M
' /;V"l 35;\49‘*1”110&%
| T 3
- (.77 6= /.23 m/s
. T2y
— lv Z
t=(4s




@re. @5 T

a/; ™My
- T g P e
¢ f

P ‘ T= Mzgﬁw?ﬂ & =M, O—

\ *= o g)
't"‘: ««é%’ (M ;*"”"m?““) ( 30 %_ )
z c/“%}s_ o= (€2 /e =
/.62
ts 7.6 s T
( ____ — \L — o~
T (2
Me
\ ! * d
Tomqsm @M T oyt T
\/ " T - ~
S L o

R

M‘ M &
60;(}’%,7‘(“41,\) = Mzar M‘ﬂ gV

= m—;’mlésn\ni

— .lz‘(/D)' ?(IO)ST*L 1)

C (#+ +1%)
Ce=3, Fmb™

o




r @é U
+
, ’ . [ 0 l + 243 I——% F

me T ———s T

T :(meg) A F=(motons ™) O
= (z?fﬂ?) 2.05 A = -”‘“’E"

M, + "M, %Mj
T 2943 N
a - /?‘/ - 2.06
o+ 294 17

| + &WL-—-’P MLa

SF - e
—t Q5N G 4 meq = (M,Mv% ) o~

a. m (‘) i 2 ag
m, + M,

- — (12, awg{;)f@ son A+ 15(/4’3} - 27//372/7/52/

¢ 5+ /5
down s pasitive. ( [ 2 B

A: O(Zc{m Cl /(f'f‘[”ﬂf
=z F.3F my, E J?:L‘, (Z_( zcz\)
o V=0 ¢. T3
£ =7
| ‘Zt:: 0(,36 S




. x | +Z+3
e =y

=M, O Fe(mtmg *W;) e
m, M,
= 47,3 N et
o - _ lé/ = Z.S}M/SLW_
727+ 213+/8
P T P
@ -
4’&1/ | = ltz f‘—"?mz,z)
M, “
o N J moor — g = (mEme) e
3 )~
V; = 0.36m/s &_r(m(-—wgg
d,= “h\ m}kme
a - ‘(zﬁwugio
t = 7 (2 %w"faa;)
(l*(/f + Lt a= ¢, g7 mls




'
o/

J'J Fors > f:

F=lm to, 1my) a

O = ] ﬁf
Ay 7
. _le) |
21429 113

- Z,5é im/il'""




